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Instructions for Candidates

(3]

Write your Roll No. on the top immediately on receipt

of this question paper.

Attempt all questions.

Each question carries 15 marks. Marks of sub parts

3.
are given at the end of each question.

4 Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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1. (a) Explain the term “Customer”. What are the
implications of various types of relations between
banker and customer? (7)

(b) What steps have been taken by the government to
strengthen Credit Market in India? (8)
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687
(a) What are the difficulties faced by commercial
o MSMEs, and what

banks in extending credit t
are the initiatives taken by banks to improve the
(7)

flow of credit to MSMEs?

(b) Write Short notes on the following:
1. Savings Account Vv/s Current Account.

5 NRE v/s NRO Alc. (8)
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=7 WA FT S T 2, 3N QeETHd @l WO & WaE
¥ gur @ fow ¥ g @@ Tew A W E7

(b) Fr=ffas w e ool fafer:
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(a) Explain the term endorsement in context to cheque
what are different types of endorsement. Explain.

(7)

(b) Write a detailed note on CIBIL and anti-money
laundering (8)

P.1.0.
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a1

(a) Elaborate any six special items of balance sheet
in reference of a banking institution. (7)

(b) Explain the difference between loan and advance.

(8)
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3. (a) What do you understand by the term “Electronic

fund transfer” (EFT)? Explain the different types

of EFT. (7
(b) Explain the term IMPS and E Money with suitable
examples,

(8)
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(a) What is “Mobile Banking”? How it has simplified
the payment system?

(7
(b) Write notes on the following: (8)
(i) KYC Policy for opening a bank account.
(ii)) NEFT
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What is IRDA, explain th s
4. (a) What i p € compositiq,, of ko, 1

M
(b) Write a note on Fire Insurance

(8)
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OR
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(a) Explain the functions of IRDA. ©

(b) Write shorts note on any TWO of the following:

. Proximate Cause
2. Dematerialisation of Insurance

3. Computation of Insurance Premium (8)

(a) Mm%mﬁﬁwﬁﬁm
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2) what 18 meant by *
) : Y "Banassurance™?

salient features of Banassurance AR dy
' (7)
(b) Differentiate Co-insurance and
insurance.E ‘ e S Re-
ce.Explain the difference by givi .
examples. | g-silaose
(8)
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(a) Explain the term Insurance.What are the features
of a valid insurance contract? (7)

(b) Explain the “Doctrine of Contribution”. How does
it follow the principles indemnity and subrogation?

(8)
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Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt all questions in all.

All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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2. (a) Certificate of Deposits and Commercial Papers
are different types of money market instruments.
Elaborate on their benefits and also explain how
Certificate of deposits differ from the Commercial

papers.
SENSEX and NIFTY. How

(b) What is meant by ‘
) ndices act as @ barometer of the Indian

these 1
economy?
OR
“ itories” mean? What
(0) What does the term depos! Pded b the thcn'l?

are the various services provl

(1) What are the various
market? Explain why an €
is necessary for the overa
eIy,
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3. What was the reason to introduce Insolvency and
Bankruptcy code? Highlight its main objectives and
explain the main steps involved in the insolvency
resolution process.

OR
Explain various functions performed by a Commercial
bank. Also highlight various challenges being faced
by the Indian banking system along with the recent
developments that have taken place in the banking

sector of the country.
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4. What are the different categories of NBFCs registered
with RBI? Is it necessary that every NBFC should be
registered with RBI?

OR
What do you mean by NAV? Why mutual funds are
becoming more popular investment route for Indian
investors today?
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Write short notes on any three of the following :

(a) Role of Merchant Bankers in post-issue
management

(b) Need and importance of Venture Capital Finance
(c) Types of Financial Services in India

(d) Endowment Plan Vs Term Plan
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1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a)

ing” i st
investment decision making - Explain the e
by establishing the relationship between risk an

(7)

return.

(b) The return on two securities P and Q are given
on different economic conditions. Find out their
expected returns and standard deviations of

returns.

Economic  Probability = Return of Return of

Condition Security P Security Q
Boom 0.40 7% 8%
Normal 0.35 9% 10%
Dull 0.25 12% 14%
(8)
OR

(a) What are the important intermediaries of public
1ssue? Explain their role in IPO. (7)
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(b) What kind of time and quantity conditions -
put in an order.

(8)
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Economic Probability = Return of

Return of
Condition Security P Security Q
Boom 0.40 7% 8%

Normal 0.35 9% 10%
Dull 0.25 12% 14%
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2. (a) W hat are simple movine averages. Discuss their
mportance ip Stock selection process (7
(b) The followipe Information s available in respect
of a mutual fung Find out the NAV per unit.
Cash balance 2,00,000
Bank balance 3,50,000
Bonds and Debentures (Unlisted) 6,00,000
Equity Shares (Current Market Value) 13,50,000
Quoted Government Securities 10,05,000
Expenses incurreg 75,000
No. of Units Outstanding 2,00,000
(3)

(c)

(d)

OR

What is Security market index? Outline the

importance of security market index, (N

What is Technical analysis? What are its basic

®)

tenets,
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Cash btanoe 2,00,000

Bank balance 3,50,000

Bonds and Debentures (Unlisted) 6,00,000
Equity Shares (Cunent Market Value) 13,50,000
Quoted Government Securities 10,05,000
Expenses incurred 75,000
2,00,000

No. of Units Outstanding
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3. (a) What do you mean by company analysis? Explain
main factors necessary to analysis the overall

performance of company. (10)
(b) What do you mean by tread analysis? (5)
OR

Pod 205
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4.

(a) What do you mean by Expense Ratio? Discuss its

uses.

®)

(b) Distinguish between line chart and bar chart.

M
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(a) Explain the procedure for online trading of
securities in India?

N
(b) What is PEG ratio? Why is it preferred over Pt
ratio? Explain its merits and demerits. (R

OR
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5. Write a short Note on any three of the fo]lowing :

(a) Leverage ratio

(b) NSE
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(¢) CRISIL Mutual Fund Ranking

(d) Commodity Derivatives
(e) Exit load vs Entry load BRasis)
pffm 3 @ el 9 W vE S Rl fafyg .

(&) wee

(@) veas
() fafer =ger we A
(¥) Hiedt SRafew

(5) v @ =W uh A



<

ant
.......
.....

[This question paper contains 20 printed pages.]
vour 1ol No
B

Sr. No. of Question Paper 563
Unique Paper Code 52414403
Name of the Paper :  Corporate Accounting
Name of the Course :  B.Com. (P) CBCS
Semester v
Duration : 3 Hours Maximum Marks : 75
Instructions for Candidates

on rcceipt of this question pape

1.  Write your Roll No. on the top immediately

Attempt ALL Questions.

Simple Calculators are allowed to be used.

3.
Working Notes should form part of the answer.

Answers to theory questions should be brief and to tle point

4.
5.
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be used throughout the paper.
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L.

2

“the following :  (176=6)
(1) Write only one basic difference between cach of the following
(i) Reserve Capital and Capital Reserve

(i) Bonus Shares and Right Shares

tion Reserve
(iii) Capital Redemption Reserve and Debentures Redemp

icipating Preference
(iv) Participating Preference Shares and Non- Participating
Shares

(v) TPO and FPO

(Vi) Book Building and Reverse Book Building

(b) State the conditions for Redemption of Redeemable Preference Shares or
Buy back of Shares.

©)
OR ALTERNATIVE QUESTION

Attempt any three of the following :

(5%3=15)
(a) Non-Current Investments (Face value ? 10,00,000) appeared in the Balance
Sheet

at ¥ 20,00,000. The Investments of the face value of ¥ 4,00.000 are
sold at the market price which was 150

% of the face value. 15%, 13000
Redeemable Preference Shares of ¥ 100 each w
Reserve

ere outstanding. General
was of ¥ 16,30,000, Securities Premium was of 3 2,25,000.
Preference Shares were redeemed

at a premium of 10%. Journalise.
(b) On Ist April, 2019, BT Ltd. (listed company) issued 6,000, 12%

of T 100 each at a discount of 10% and redeem

Debentures
after three years. Interest on Debentures

able at a premium of 5%
is payable half- yearly on 30th
Sept. and on 31st Mar, During 2021-2022, on 1st Aug,

the company
purchased 1800 Debentures @ X 97 cum-Interest in the open market for

immediate cancellation and on 1st Nov, the company purchased % 60,000
nominal purchased for ¥ 58,050 ex-interest in the open market for immediate
cancellation. Pass the necessary Journal Entries on lst Aug and Ist Nov,

563
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Nture, Pass the
of the Loss on issye of Debe

(d) On3 Ist March, 2022,

2,

(a) Write only one basijc difference betw

€en each of the following : (2><6=12)

(1) Interim Dividend ang Final Dividenq

(i) Quoted Investments and Unquoted Investments

(i) Reserve and Reserve Fung

(iv) Current Asset and Non-Current Asset

(v) Trade Receivable and Trade Payable

(vi) Work-in-progress and Capital Work-in-progress

(b) Explain Operating Cycle. Give one €Xample each of Contingent Liability and
. i 3
Commitments as per Schedule II1 to The Companies Act, 2013, (3)

P.T.O.
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OR ALTERNATWE QUE

sTION

i sparing th
g items while preparing

of 14 months) as

Act, 20130 (N

How will you disclosc the followin
AMLA TULSI Ltd (having operating cycl®
2022, as per the Schedule Il to The Companics

Sub-Head and Sub-Sub-Head, if any)
(i) Debit Balance of Profit & Loss A/¢
(i) Computer Software under Development

(i) Building under construction

wcslmcnls

(i) Uncalled Liability on partly paid Debentures held as It

(v) Current Maturities of Long-Term Borrowings

(vi) Employces’ earned leave payable on retircment

(vii) Security Deposit for Telephone
(viii) Calls-in-Advance

(ix) Security Deposits

(x) Investmentin Bonds of ADANI Ltd. (Redecmable within 1 year)

(xi) Debentures of AMLA TULSI Ltd (Redeemable within 1 year)

(xil) Arrears of Fixed Cumulative Dividends on Preference Shares

(xiii) Share option outstanding Account.

(xiv) Uncalled liability on sharcs and other partly paid investments,

(v) Licenses & Franchise (15)
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ed on advance reccived from Customers

(Vi) TDS on interest allowed on Debentures

(viii) Insurance claim received against loss of fixed asset by fire
(ix) Compensation paid in a suit filed by a customer
(x) Deposit with bank for a term of 3 months

(xi) Deposit with bank for a term of 12 months

(xii) Deposit with bank for a term of two years

(xiii) Purchase of Business for 2 20 lakhs payable by issue of Equity Shares of
¥ 11 lakhs, 12% Debentures of % 4 lakhs and the balance through RTGS

(xiv) Redemption of 12% Debentures of 10 lakhs by issue of Equity Shares of
< 4 lakhs and the balance through RTGS.

(xv) Purchased Debentures of X Ltd., on. 1st Feb, which are redeemable within

3 months. (15)

P.1.0.
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OR ALTERNATIVE QUESTION

From the following information, prepare Cash Flow Statement of BHARAT

SHEENA Ltd as per AS-3 issued by ICAI :

Particulars 31.03.2022 $103.2021

Hd 3T

Equity Share Capital 5,50,000 4,50,000
59, Preference Share Capital 2,00,000 2.£9,000
General Reserve 1,10,000 S
Profit and Loss A/c 1,90,000 (1,40,000)

1 Securities Premium 10.000 —
l Provision for Tax 50,000 40,000
/ Short-term Borrowings (10% Bank Loan) 3,00,000 2.00,000
Trade Payables 1,20.000 1,10,000
LLand and Buildings 2,00,000 2,20,000
Machinery 10,00,000 7,00,000
Accumulated Depreciation on Machinery (3,40,000) (3,00.000)
Intangible Assets [Goodwill] 15,000 40,000
10% Current Investments 70,000 30,000
Trade Receivables & Inventories 3,95,000 3,00,000
1,90,000 90,000

Eash and Cash Equivalents




"
During the ves x
& the year Machinery costing 2 60,000 was sold at a loss of ¥ 20,000

Depreciati : .
Preciation provided on Machinery ¥ 60,000. On 1st October, 2021, Additional

Bank 1
Loan r Y
Was raised and Current Investments were p"rchnscd. Dividend on

cqui : e

bq ity shares @ 8% was paid on opening balance. Income TaX ¥ 45,000 has
ce : . ;

N provided during the year. Preference Shares were redeemed at a premium

of 5% at the end of the year. -

(a) Define Purchase Consideration as per AS 14. (%)

(b) Distinguish between Amalgamation in the nature of Purchasc and

Amalgamation in the naturc of Merger. (10)

OR ALTERNATIVE QUESTION

(a) Given below are the extracts from the Balance Sheets of TASHIKA Liq 4

at 31st March 2022 :

er'rfcu-’m‘S (¢ in lakhs)
Equity Share Capital (Shares of ¥ 10 each) 10.00
8% Pref. Share Capital (Shares of ¥ 100 each) 2',00
12% Debentures of ¥ 100 each 1.00

TUSHAR Ltd absorbs TASHIKA Ltd as on that date on the following

terms :

(1) 12% Debentures of TASHIKA Ltd are to be discharged by TUSHAR
Ltd by issuing such number of its 15% Debentures of ¥ 100 each so

as to maintain the same amount of interest.

ETO.

|
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4 Pref. Shares in TUSHAR

(ii) The issue of such an amount of fully paid 10° —

= ~sin’1
Ltd at 125% as is suflicient to discharge 8% Prel. Share
Ltd at a premium of 20%.
5 11 reccive the requisite
(iii) The Equity Sharcholders of TASHIKA Ltd will receive q

5 ity Sh
number of Equity Shares of TUSHAR Ltd. The Equity
ach credited as

ares of
TUSHAR Ltd are to be of a nominal value of T 10 ¢

¥ 8 paid up and valued at ¥ 15 per share.

1 rhi mounts
(iv) The transfcree company shall pay the cost of absorption which a

to ¥ 1,00,000.

: : i ion,
Reguired: Show the calculation and discharge of Purchase Considerat

(3)
(b) Joumalise the following : (1.5%x8=12)

(1) 5 lakh fully paid equity shares of Z 10 each converted into Stock of
T 50,00,000.

(i) ¥ 50 lakh fully paid equity shares of 7 2 each consolidated into fully
paid equity shares of T 10 each.

(iii) 5 lakh fully paid 10% preference shares of ¥ 50 each sub-divided into
fully paid 10% preference shares of ¥ 10 each.

(iv) 10% preference shares of ¥ 10 lakh converted into ¥ 4,00,000, 12%
preference shares and remaining balance as 14% Non cumulative

preference shares.
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5.

(Vi) 6% Cum-Pref, Shares (of ¥ 100 cach ) of T

(vii) Dividend on 6% Cum-Pref. Shares (0

9
into the gume

(v) 1000 lakh Equity Shares of ¥ 10 cach converte!

. ).
number of equity shares of ¥ 5 cach, ¥ 2.50 puid Y

‘e sried
) are conve

00 18K

ich the total return aw
e

from 6% to 15% but revalued in 8 manner in wl

them remains unaffected.

£ 100 cach ) of z 100 Jakh

quity shares of z 5 cach,

rec ycars. Four ¢
Z10

are in arrears for th N1
0 of arrears of preferene

< 2.50 paid up to be issued for each

dividend.

(viii) Trade Creditors of ¥150 Jakh are
res of T3, Z 2.50 pa

accept equity sha

to them or to acce

accepted equity share

settlement.

Given below are the extracts from the Balance Sl

at 31st March 2022 :

pt 80% of the amount

s whereas the balance accepted cash in full

given the optio

id up cach,

due in cash.

n of cither to

for the amount due

40% Creditors

weets of H Ltd. and S Ltd. as

Particulars H L. S Lud.

3 3
Equity Shares of ¥ 10 each 40,00,000 28,00,000
General Reserve 24,00,000 25,62,000
Profit & Loss Alc 12,40,000 5,22,000 \
Equity Shares in S Ltd. 20.40,000 —— \

P10,
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Additional Information ¢ (Assume that the profits arc evenly earncd throughout

the year and ignore laxes)

() M Ltd acquired 1,20,000, Equity Shares is S Lid. on 1.7.2021, On
1.4.2021, the credit balance of Profit & Loss Account of § Ltd. was

2 8,00,000 and that of General Reserve on that date was ¥ 31,70,000.

(h) On 31.8.2021, S Lid. declared & paid dividend @ 20% on equity shares
for the year 2020-2021. H Ltd credited the receipt of all dividends to its
pProfit & Loss Account. On 1,11,2021, S Ltd. issued 2 shares for cvery 5

shares held, as bonus shares.

Required: Calculate the Minority Interest, Capital Reserve on consolidation/
Goodwill on consolidation and the Balance of Consolidated P & L Account to be

taken to the Consolidated Balance Sheet of H Ltd. and its subsidiary, as at 3lst

March, 2022, (15)

OR ALTERNATIVE QUESTION

(a) Define Holding and Subsidiary Company. (N

(b) How are Minority Interest and Capital Reserve on consolidation/Goodwill
on consolidation calculated while preparing the Consolidated Balance Sheet

of Holding Company and its subsidiary? (8)
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1, Write your Roll No. on the 1op immediately on rec eipt of this guestion paper.
2. All questions are compulsory and carry equal marks

Q.1 (a) "Offer and acceptance bring the parties together but the law requires SOme further

evidence of thelr intention to create legal relationships.” Comment

: *)
(ajwmmﬁuﬁﬂwmm%mwﬂmﬁmm
*Wmﬁwmmﬁﬂmmmal"mmm

&)

ent in the daily newspaper 10 sell certain valuabie ormaments
10 the advertisement 4 person :
smay that the sale had been

(b) X offered through an advertisem
on a particular day at particular place at Delhi. In response

travelled all the WaYy from Jaipur to Delhi and found 10 his di
postponed. He wanted to suc X on this account. Advise him?

mx#zﬁmwﬁﬁwma:mw#ﬁaﬂfﬁwammﬁm
Fﬂﬁﬂfﬂﬂﬂﬂ"n‘ﬂﬁaﬂﬂ
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Q.2 (a) What 1s a contract of sale? Distinguish between sale and agreement 1o sell. Can a contract
of sale be made with regard 1o future goods? 9

Q2 () R &1 egau wa @ Ry oy R & aorghd & A et Fusz RS
maﬁwtmxtmﬂﬁﬂmqu‘ummmmi'?

(b) “The right of stoppage in transit is an extension of the rl;;lli of lien.” Comment (1]

() " A g @ HER TEOTRER & HwT & e §1 e
Et ]|

OR

-

(a) What remedy is available to the buyer it the seller makes:
(1) & delivery in excess of contract quantity
() a short delivery, and

(ii1) a delivery of contract goods mixed with other goods? 9

(b) Write 2 note on agreement to sell 6

ar

(a) TF AT APATRE a=ar & Y har § T SlE-H IUR ITEEY §:

(i) eay A B Hftew A Behad

(i) vF oY el AR |

(iii) 3T AT & AT IeE A & Bea 9 -

3)
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() Ry % gy o o e fra

01 (a) How does Limated | whility Partnevship ditfer from a Traditional Partnership and 3

Company?
(9)
/1) Who can be a partnet of a limited liability partnership? 6
04y e 2mar wmferd oAl Aeverd A SRl @ & e )
(v) BRE 2ua el & wEleR ®T @ FRAT 87 6
(A Limited Liability Partnerships are body corporate. Do you agrec? Justify. -9
6

(3) What s the extent of liability of a Limited Liability Partnership?

aT
:A)mmmmﬁdﬁtﬁlwmmgﬁmmﬂmi
(b) ¥fPa aar smherdy $r daar & @ =

-
-

Y )
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ifyi | J
Q. 4 (a) Define Certifying Authonty. [Discuss th ) iibiing Ao ’
IT Act 2000. ss the power given 1o the Centifying rity u:du
."’) Discuss the vari.t:-usa provisions regarding E-governance under 1T Act 2000. é

mﬂdta)mﬂmmﬁmﬂqﬁmﬁﬂaﬁtmlmxﬁrﬁwzmkm
mmmmﬂawnm'ﬂmmn

(blmmmmtmé-ﬂﬁw#mﬂmmmwb
afFw)

OR
(a) How Digital signature ensures the authentication of electronic records? 4

(b) What are the functions performed by private and public key?

ar
ga)%ﬁiﬁéﬁsﬂtﬁﬁ?ﬁﬁﬁﬁéﬁqﬂwﬁmﬁﬂ@ﬁﬂ?mhn
) i T gh G Fa-d R T

Q.5 (a) What are the various remedies available 10 4 party in case of breach of contract? 9

(b) What are the siatutory obligations and liabilities of a designated partner? 6
mﬂ.ﬂaygﬁﬁaﬁwa?nmﬁﬁmm#ﬁvwmmm

%9

(b)uﬁarﬁamﬁaﬁﬁauﬂﬁa@ﬁaﬂtmﬁﬁmﬁa

(5)
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SR A e @ @ arr A R @ B D wg | O 9 2 aF 3w ama

A X QX qFEHA ST e U1l 38 wEw ATI (6)

OR (6)

(a) State the vanous ways in which a contract may be said to be discharged.

&)

(b) Anju undertakes to repay Deepti a loan of Rs. 2,00,000/- in five equal monthly installments
with a stipulation that in default of payment of any installment the whole sum shall become due.
Anju makes a default in payment and Deepti wants to enforce the contract. Can Anju resist the
claim of Deepti by treating the stipulation as penalty? Discuss fully giving reasons for your
answer? - (6)

ar

(aymﬁﬁmaﬂaﬁﬂmaﬁlﬁvﬁaﬂ.wm.m‘ﬁ%mﬁuw IFHEA
g g

(9)

(b) 35 A Ft arw wAA ARF fRat A 200,000~ 7R 7w osw w4k & @y
THA H q0a & © B 5 of Rva & apew & @5 & o o o 2T @
S IS S A qF FA § AR wqEw B qw) e awd ¥ oww i
eﬁﬂﬁmaﬁﬁmmﬁﬂuﬁmpmmtwm@
faram & a9t ffdw - '

(6)

(=)




s -
OR

(a) What arc the cssentials of a wagermg contract? State il such contracts are enforccable.

(5) Who want be a desrgnated nartner? 6

or

() w1 W & SR Ger AT 0 RA B A OF ey gadd E o
(by cofda srlie o0 &Y aFar % 4 |

(200)

(6



[This question paper contains 20 printed pages.]

Your Roll No...............

Sr. No. of Question Paper : 555 B
Unique Paper Code . 52411202
Name of the Paper - Business Mathematics and

Statistics
Name of the Course  : B.Com. (P) C.B.C.S.
Semester - 0
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all que.stio_ns.

3. Marks are indicated against each question.

4. Simple calculator is allowed.

5. Log tables shall be provided on demand.

6. Answers may be written either in English or Hindi; -
but the same medium should be used throughout the
paper.

el o forg Adw

1 @ AT @ e @ W Re Y iR RS

FhHIeh Tl |

P.E-O.




555 2

2 it v S |

3 YOS W & G 3 JAhd 8 |

4.  UURY RARAR AT B |

5. TN ¢S ANl W W IUARI FE S |

6. TH I~ I IR SAIH A 2 R v A AR, A
TN I 6T AN T B BT =18 |

Part-A : Business Mathematics

1. (a) Three firms X, Y and Z supplied 80, 70 and 50
truckloads of stones and 20, 10, and 16 truckloads
of sand respectively to a contractor. If the cost of
sand and stone are Rs. 2000 and Rs. 4800 per
truckload respectively, find the total amount paid

by the contractor to each of these firms using

matrix algebra. (3)

(b) A firm produces three products X, Y and Z whicl
it sells in two markets. Annual sales in units ar

given as follows :
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1.

it v i

T W D W 3 e E |
HURY FAFAR AT BN

AN 2T A T W Iq HE e |

T VI - T o1 IR Feh o et e e v ¥ A, St
T IR T AW T @ B AR |

Part-A : Business Mathematics

(a) Three firms X, Y and Z supplied 80, 70 and 50 |

truckloads of stones and 20, 10, and 16 truckloads

of sand respectively to a contractor. If the cost of
sand and stone are Rs. 2000 and Rs. 4800 per
truckload respectively, find the total amount paid

by the contractor to each of these firms using

matrix algebra. (3)

(b) A firm produces three products X, Y and Z whict
it sells in two markets. Annual sales in units ar

'given as follows :
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Units Sold
X Y Z
I 32000 | 16000 | 8000 |
[ I 58000 | 12000 | 36000

Market

If the pfices per unit of X, Y and Z are Rs. 10,
Rs. 8 and Rs. 16 respectively and the costs per
unit are Rs. 6, Rs. 4 and Rs. 8 respectively, find

the total profit in each market by using matrix
algebra. 4)

Or

A transport company uses three types of trucks T,
T, and T, to transport three types of vehicles Vi Vs

and V.. The capacity of each truck in terms of three

types of vehicles is given below :

Vi| V2 | V3

T | 2 6 4

T2 | 4 4 6

T3 | 6 | 4 | 4

P.T0O:
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Using matrix inversion method, find the number of

trucks of each type required to transport 170, 210 and

220 vehicles of V‘I, V, and V, types respectively,
(7)

2. (a)A garment manufacturer is planning production of

new variety of shirts. It involves initially a fixed
cost of Rs. 600000 and a variable cost of Rs. 600
for producing each shirt. If each shirt can be sold
at Rs. 1400, thgn find

(1) The total cost function;
(11) The average cost function;
(iii) The total revenue function;
(iv) The marginal revenue-function; and

(v) The profit function. (5

(b) The total cost of producing x units of a certai
product is described by the function C(x) :
30x?+ 1500000x + 9720 where C(x) is the tots

cost stated in rupees. How many units of x shoul

be produced in order to minimize the average cos|

(



W
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Or

(a) Given the demand function x = 1500 — 2p*— 12p,

find the price elasticity of demand at p = 20.
(35)

(b) For a company the total cost function C(x)

and the total revenue function R(X) are given by
C(x) = 2x3—-24x2+ 96x + 22 and R(X) = 166x —
8x2— 42 where x is output. Find the output for

)

which profit is maximum.

(a) A Sav‘ing account opened 3 months ago, now has

a balance of Rs. 2040. If the bank pays 4% simple

interest, find how much money was deposited?

€D

(b) A machine costing Rs. 800000 depreciates to a

scrap value of Rs. 200000 in 8 years. Find the

rate of yearly depreciation

depreciation is calculated using diminishing balance
(D)

given that the

method.

P. T.O.
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Or

(a) A man wants to invest Rs. 25000 for 5 years. He
may invest the amount at 10% per annum
compound interest accruing at the end of each
quarter or he may invest it at 10.5% per annum
compound interest accruing at the end of each

year. Which investment will give him better result?

G

(b) In return of a promise to pay Rs. 300000 at th
end of 10 year:s, a person agrees to pay RS. 6000
now, Rs. 125000 at the end of 7 years and a fin;
payment at the end of 12 years. If the rate |

interest is 6% per annum effective, what shou

the final payment be?
Part-B: Business Statistics

4. (a) Why is standard deviation considered to be

most reliable measure of dispersion?
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(b) For a series the value of mean deviation is 30.
Find the most likely value of its quartile deviation.

3)

(c) The median and mode of the following marks are
known to be 33.5 and 34 respectively. However,

three frequencies are missing. Determine their

values.

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 Totlii
No. of Students | 4 16 ? ? ? 6 4 230

()

Or

(a) “Median is not affected by extreme values”.

Comment. . (3)

(b) A cyclist pedals from his house to his college at
a speed of 10 km per hour and back from the
college to his house at 15 km per hour. Find the

average speed. 3

" (c) Particulars regarding the monthly income of the

employees working in two cities are given below:

p.T.O-
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City X|Ci Y
Number of employees 600 | 500
Average monthly income (Rs.) 17,500 18,600

| Standard deviation of monthly income (Rs.) { 1,000 | - 819

(i) In which City is the variation in momhly

income greater?

(i) What is the combined standard deviatig,
of monthly income of the City X and City
Y put together? (9)

5. (a) Distinguish between correlation and regression, |

)

(b) Find the coefficient of correlation between the

age and the sum assured from the following table

Age group (Years) Sum assured (Rs.) -
10,000 | 20000 | 30000 | 40000 | 50000
20-30 4 6 3 7 1
30-40 2 8 15 7 1
40-50 3 9 12 6 2
50-60 8 4 2 - - |
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Or

(a) Define Karl Pearson’s coefficient of correlation

and give its limits. (3)

(b) If the sum of équares of the rank differences of
9 pairs of values is 80, find the correlation

coefficient between them. o (3)

(c) Find (i) the two regression coefficients; (ii) the
regression lines; and (iii) the coefficient of

correlation for the following data :

Price (X) [156 178 [194 138|118 | 158 [ 136 | 122
Demand (Y) [ 250 [ 274 [ 312 [ 224 [ 214 | 272 [ 246 | 216

%)

(a) What are the uses of‘Consumer Price Index

Numbers’? 3)

(b) Calculate the Fisher’s Ideal Index from the
following data and préve that it satisfies both the

time reversal and factor reversal tests:

P T .
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10

2021

di 2020
Commodity Price (Rs.) | Expenditure

Price (Rs.) | Expenditure (Rs.)

8 80 10 120

10 120 12 96

5 40 5 S0

m|o|O|®|>

4 56 3 60

20 100 25 150

(a)

(b)

(7
Or

What are index numbers? Why are they called

economic barometers? 3)

The cost of living index uses the following weights: |
|

Food 40, Rent 15, Clothing 10, Fuel 10,
Miscellaneous 15. During the period 2015-20, the_i
cost of living index raised from 100 to 205.83,

Over the same period the percentage rise in pricf:s;i
were: Rent 60, Clethi_ng 180, Fuel 75 anc[
Mi;;callaneous 165. What is the pefcentage chang
in the price of food? (i

Distinguish between seasonal fluctuations ai

cyclical variations in a time series. "

P87 sy e e
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(b) Find the centered 4 yearly moving average trend

values from the following data:

I Year { Production (in ‘000 tonnes) | Year | Production (in ‘000 tonnes)
[ 2010 | 4408 2016 5808
[ 2011 ] 5000 2017 2196
[2012 ] 4720 2018 6344
[ 2013 | 5360 2019 | - 5904
[ 2014 | 4848 2020 6496
| 2015 | 5268 2021 6344

(7)

Or

Fit a straight line trend by the method of least squares

to the following data and find the trend values.

[ Year 12015 [ 2016 [ 2017 | 2018 | 2019 | 2020 [ 2021
| Sales (in lakhs of Rs.) | 33 | 35 | 60 | 67 | 68 | 82 | 90

Assuming the same rate of change in trend values

continues, what would be the predicted sales for the

year 20237 (10)

P.T.O.
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L () @ X, Y a2 % T O R oy,
70@50@?“3“?’“”20'10@116@%
& o 0 AR A TR R T Ty
o 3 4800 TR TR TH B, W T A
ma@ﬁﬁmﬁﬁmmm
£ T T T T B

(a) vE W A sae X, Yﬁ'{ZEﬁtﬁﬂmmA
ﬁ%%ﬁmﬁﬁﬂaﬁ%lﬁ@%aﬁm

RwTER & T B

EIEIR . R
X LY [z
| 32000 | 16000 | 8000
I 28000 | 12000 | 36000

2R X, Y a2 & TR T T

T 3R 16 @ T AR A TS A w

4mﬁ$ﬂiamﬁﬁamgmmm
’ T 9K ¥ HE AW T ol
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T

v GRIET FEN A ywr @ e VI, V2 R V3@
WRaeT & fore 7 yaw @ ¢ T, 2 sk T3 @ I
T Bl W R F A B ded F ww gE A
& w3 |

Vi| V2 | V3

Ti|2]6 |4

T2 4] 4|6

Ts| 644

HFE qehd ffer &1 I e §T, VI, V2 3R
V3 WER 3 F: 170, 210 3K 220 O @ TR
3 Ry JAwE TEE TR D @ @ e
Fiferg|

(%) v qRUA (AT 7 TR HAC & ST Bl Ao
T @ 2l T TE | 600000 ¥ @t U fAfFe

P.T.O. .
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T SR R wE F wew @ R 600 T R
TR A Wl 21 AR wdw 7 A 1400 TR
i’f%ﬂlwmg’ﬁmm (i) et T
(i) shew v e (iii) wm oo wes (V)
S AT W AR (v) e

TH FivE S @ X qoral @ S @ h/R
| C(x) = 30x2 + 1500000x + 9720 gR affiet & e
C(x) T ¥ war 7 o @FE 21 ed a0 R

TR w @ e x o fred gl W ST
frar s =R ?

E3 11
A HwE x = 1500 — 2p? — 12p, Raw 7w 2, p=2
TG 1 A qed A iR

TH HT & oY Hid 90 oM C(x) IR A 9
waT C(x) = 2x3— 24x%+ 96x + 22 and R(x) = 166
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___ | orz7 X T Y

FHATRAT F qE=qT 600 500
| a1 o (3) 17,500 18,600

ATTEF F7 919+ fa==7 | 1,000 810

(i) ﬁmwﬁmﬁﬁmﬁ'ﬁﬂmm%?

(ii) aE X R WEX Y @ At o H dgE
A o o 87

(%) wEaEy SR T @ d S S

(@) i e & A SR e AR A gy

&7 O A Do :
f a7 7E () | Al T () i
[10,000 [ 20000 [ 30000 | 40000 | 50000
[ 20-30 | 4 6 3 7 ]
[ 30-40 | 2 8 15 7 1
| 40-50 | 3 9 12 6 2
[ 50-60 [ 8 4 2 " -
q1

(&) F6 QFET & Fedae & o hl TRANE Hiod I

Zqe ST G/

P.T:0.
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. 2) “l.av 3
. AN O contracty iy pes
A N N = .
agreem 'oRetther the Jaw of all
“ LS S 1] N - %
" SIS nor the law of all ohiiortions®,
Comment, i (S)

\ i‘! \_‘ =% ey »
(0} Discuss the circumstances when an offor 1apses,

(3)

(€) A’s son caught in fire and he announced a reWard
of Rs. 30000 to anyone who saves his son B

saved the child. Can he claim the money:t Wl
ow about

yYour answer be same it B comes to kn
)

e [~ ~ > .:‘
the offer of reward after saving the childs
(OR)

(a) “Stranger to consideration can sue but a stranger
- L] I~ q

to contract can't”. Comment. ()
(b) Differentiate between Coercion and Undue
influence. (5}

(¢) A gives his house on rent at Rs. 23000 per month
to B. who will use it for residential purpose and
also for storing prohibited drugs. Can he recover

()

the rent of the house.

2 (a) “Position of finder of lost goods is like that of a

—-—

bailee”. Comment. &)

(b) Differentiate between Indemnity and Guarantee,

(5)




¢ 8l

ns™.

(s)

RL‘S.

-~

(3)
ird
]

)
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3

(¢) Discuss the circumstances when a contract 1s

discharged due to supervening impossibility. (5)
(OR)

(a) “Unilateral Mistake does not affect a contract”

comment. (5)

(b) Discuss the circumstances when an agency

becomes irrevocable. (3)

(c) Discuss Bailee’s right of liecn and differentiate

between Particular and General Lien. (5)

(a) “In a contract of sale there is no implied condition
as to quality and fitness of goods for buyer’s

purpose”. Comment. (3)

iscuss the rules for transfer of ownership in a
b) D tl les for transfer of ow hip

contract of salc. (5)

(c) A purchased a new TV sect in exchange for an old
TV and Rs. 20000. Can it be called a contract of

sale? ()
(OR)

(a) “Right of stoppage in transit is an extension of

right of lien”. Comment. ! (5)

(b) Discuss the rule of Caveat Emptor. (5)
P10,

L A i aCalian A

B
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(¢) A agreed to sell 100 bags of wheat o B @ 700
per bag. On the date of delivery A delivereq 120

bags of wheat instead of 100, What rights are
available with B, (5)

4. (a) Who can be a Designated partner ip an LLp,

Discuss the rules relating to designated partners
as per LLP Act. What role does he play? (9)

(b) “Limited Liability Partnership contains the

advantages of both traditional Partnership apq

company form of business org

anization».
Comment,

(6)
(OR)

(a) Discuss the procedure for conversion of a Private
Company in to LLP. Wh

at will be the consequences
of such conversion?

(%)
(b) Discuss how a Limited Liability Partnership can
change it’s registered office within the s

ame state:
and from one state to another state.

(6)

(a) Define Originator, Addressee and Intermediary

as
per IT Act. (5)
(b) Discuss the rules relating to suspension and

revocation of Digital Signature Certificate. (3)

(¢) Who will be called a Subscriber and what are his
duties? (5)
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